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@Given the line Ly = —%x + 3.
a) Determine: 3
1. itsslope; __4 2. itsy-intercept.

b) Draw the line [ in two different ways:
1. using the slope and y-intercept.

2. using a table of values.

@ Draw each of the following lines
ay Lhy=2x—-1
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Fér each of the following lines, determine the slope, -y-ixltercept and the functional equation.
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y=%x+2 . _ yv=0x+3

—

@&.) Given .y = —%x + 1. Determine the slope of the line [ in two different ways.
- 3
~a=s-y

_ a) Using the equation of the line.

2} g =2-1 _
b} Using the slope formula with any two points on the line. A0, _”' B, ~2); o '



